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QUESTION 1
Case Facts as on March 31, 2012

Mark Construction Company (MCC) has bagged a contract for construction of a large dam and hydro power project on
river Shivna in Madhya Pradesh (MP). The project is also of relevance from the irrigation perspective due to its location
and as per the agreement MCC will have to undertake construction of web of canals, approach road to dam, power
house and other ancillary units. MCC is promoted by Mr. Thomas Mark, who is a MP from the ruling party which recently
formed government in MP. Historically, MCC has been engaged into construction of rural roads, small bridges and
railway platforms on contract basis for the Government. MCC will have a separate special purpose vehicle (SPV) floated
for this venture.

The hydro power project comes under the public private partnership scheme of the Government of MP, where in the
private partner builds owns operates and transfers (BOOT) the hydro power plant. The detailed terms of the hydro
power project agreement are as follows:

1.

The construction of the dam, canals and hydro power plant shall be undertaken by the contractor. The Government of
MP will have to acquire land which will submerge on construction of dam and shall rehabilitate the owners of land.

2.

MCC shall have right to operate the hydro power project from date of commencement of commercial operations
(DCCO) for a period of 20 years and shall transfer the project to Government thereafter. Further, SPV shall be tax
exempt for a period of five years from DCCO i.e. FY17-FY21.

3.

The power project is of 600 megawatts (MW) shall comprise 4 units of 150 MW each. The estimated cost of project is
about INR3, 500 Million to be spent over a period of 4 year(s) the project is estimated to be commercially operational by
April 1, 2016 with two units operational om same day and one unit each will be operational on April 1, 2017 and April 1,
2018.

4,

Means of finance:

Means of Finance INR Million
Government Aid (To be classified as Equity) 500
Equity 000
Debt 2100

Means of Finance INR Million Government Aid (To be classified as Equity) 500Equity 900 Debt 2100 5. Amount if
expenditure estimated in various years is as follows: Funding Cost of Project INR Million Debt Govt Aid Equity Total
FY13 (April to march) 700 0 250 450 700 FY14 1200 500 250 450 1200 FY15 1200 1200 - 1200 FY15 400 400 - 400

Debt shall bear a fixed rate of interest of 10% and all interest till DCCO shall be added to the principal. The expected
principal along with capitalized interest is expected to be INR2, 400 Million (i.e.INR2100 Million debt plus INR300 Million
capitalized interest). The repayment of the same shall be in 12 equated annual installments starting from FY17.

Brief projections for the period of FY17 to FY21 are given below:
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Particular FY17 | FY1S | FY19 | FYXD FY21
Revenue from Power sale | 600 900 1200 1320 1452
EBITDA % 72% 68% 63% 60% 60%
Interest Cost 240.00 | 220.00 | 200.00 | 180.00 | 160.00
Depreciation 17500 [ 17500 17500 | 175.00 | 175.00
PAT 17.00 [217.00] 405.00 | 437.00 | 536.20

Developments as on March 31, 2015

The project manager for the SPV made following comments at a press conferee on March 31, 2015:

As you all are aware, we were running bang on schedule till we last met on December 21, 2014. From today we are just
left with one more year to complete the project in time. However, the flash floods which struck our dam site on this
March 15, 2015 have created havoc in the region. | shall not point out the loss of lives in the region as you all are well
aware of those. Our project has also been badly hit due to the same and we have been assessing the damage over the
last one week. After analyzing damage, we have made changes in project schedule. Now we will be making only one
unit of 150 MW operational on April 1, 2016 and 1 unit each will be added in each of subsequent year(s).

Development as on September 30, 2015 Post the flash floods, lot of environmentalists started raising issues of changes

in environment due to construction of large number of dams. A few Public Interest Litigations (PILs) have been filed in
various courts.

Honorable High Court of MP on September 27, 2015, banned construction of any dams in the region and banned
permissions for new dams till next hearing scheduled on November 30, 2015. MCC in its press release has indicated
that they will apply to the higher court on the matter.

On receiving the credit proposal, the banker informed the company that in FY17 the DSCR is below unity, which is not
acceptable to bank. Which of the following is correct?

A. Had the cash accruals be more by INR50 Million, DSCR would have been unity. SPV can provide an implicit credit
enhancement for the same from MCC.

B. Had the cash accruals be more by INR8 Million, DSCR would have been unity. SPV can provide an implicit credit
enhancement for the same from MCC.

C. Had the cash accruals be more by INR8 Million, DSCR would have been unity, SPV can provide an explicit credit
enhancement for the same from MCC.

D. Had the cash accruals be more by INR12 Million, DSCR would have been unity. SPV can provide an explicit credit
enhancement for the same from MCC.

Correct Answer: C

QUESTION 2

A coupon bond is trading at 110% of the USD 1000 par value. If the last interest payment was made one month ago and
the coupon rate is 12%, the accrued interest on this bond is

A. 110

B. 100

CCRA Study Guide | CCRA Exam Questions | CCRA Braindumps 3/6


https://www.leads4pass.com/ccra.html
https://www.leads4pass.com/ccra.html
https://www.leads4pass.com/ccra.html

https://lwww.leads4pass.com/ccra.html
2024 Latest leads4pass CCRA PDF and VCE dumps Download

C. 120
D. 10
Correct Answer: D

Reference: http://www.faculty.umassd.edu/xtras/catls/resources/binarydoc/2288.pdf

QUESTION 3

Which of the following statement is (are) correct?

Statement 1: Industry analysis is the first and foremost step in the bottom up approach of analysis. Statement 2:
Industry analysis would enable an analyst to figure out the relative positions of various market players and thereby make
informed investment decisions.

A. Both are incorrect

B. Only Statement 1 is correct

C. Only Statement 2 is correct

D. Both are correct

Correct Answer: C

Reference: https://books.google.com.pk/books?id=WTvNAgAAQBAJandpg=PA33andlpg=PA33anddg=Industry
+analysis+would+enable+an+analyst+to+figure+out+the+relative+positions+of+various+market+players
+and+thereby+make+informed +investment
+decisionsandsource=blandots=cdWVJjXJODandsig=ylQxA7NKQBDIlaUibTdf3F8GgZh4andhl=enandsa=Xandved=2ah
UKEwiKptmlpd7e AhVQQCAKHcILCCoQ6AEWAHOECAgQAQ#v=0onepageandg=Industry%20analysis%

20would%20enable% 20an%20analyst%20to%20figure%200ut%20the%20relative%20positions%200f%
20various%20market%20players%20and%20thereby%20make%20informed%20investment% 20decisionsandf=false

QUESTION 4

Stand by letter of credits are typically taken as credit enhancement for
A. Commercial Paper

B. Long term Bond issues

C. Long term debenture issues

D. Bank debt

Correct Answer: D

Reference: https://www.investopedia.com/terms/s/standbyletterofcredit.asp

QUESTION 5
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Ms. Mary Brown is a credit rating analyst. She had prepared a detailed report on one of her client, FlyHigh Airlines Ltd, a
company operating chartered aircrafts in India. As she was heading for a meeting with her superior on the matter, coffee
spilled over her set of prepared paper(s). As she was getting late for meeting, instead of preparing entire set she could
recollect few numbers from her memory and reconstructed following partial financial table:

Period Ended FY10 | FY11 |FY12
Working Results
Total Income
EBITDA
Interest
Depreciation 20.0025.00 20.00
Effective Tax Rate 20% || 24% | 25%
PET
PAT
Financial Position
Net Worth 370.001430.00535.67
Total Debt 743.00|
Ratios
Growth
Growth in Total Income (%) 25% | 15%
Growth in EBITDA (%) 30% | 20%
Growth in PAT (%) 20%
Profitability 1
EBITDA Margins 32%
PAT Margins
RONW
Solvency
Overall Gearing Ratio 2.2

Interest coverage ratio 3.2 3.1
Total Debt / EBITDA 45 | 5.2

Compute growth in PAT for FY12?
A. 25%

B. 19%
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C.22%
D. 21%

Correct Answer: B
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